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II Semester B. C A. Degree Examlnatlon, September 2021
' COMPUTER SCIENCE ‘ |
: _'Numencal and Statistical Methods- e
. (CBCS Scheme)
Time : 3Hours X o ' o ' 'MaXi’mun’i'M‘arks : 100 |

Instmctzons to Candtdates ‘
- 1. Answer ALL Sect1ons

SECTION A

L Answer any TEN of the followmg questlons Each questlon eames TWO Marks (10><2—20) ,

1.

2
3.
4.
5

_ Mentlon Four Types of Errors.

. Mulfiply 0.1111E51 x%mso"

erte the formula for Newto%hson Method
Wr1te Newton sF orward Interpolatu/n la
Construct the dlfference table for the fol data
x 0, 17 2 3] 4 15

lrwlr | 2] 47| ufs|

 Write the Lagrange Interpolation Formula.
. Write the Simpson’s 1 rule 'Fbtrmila
*Wnte the Formula for Harmomc mean for Dlscrete Serles

~ Write the Formula to calculate the Standard Deviation by Actual Mean method

Deﬁne Correlauon

Wnte the altemate formula for Karl Pearson S Coefﬁment of Correlatlon

.}IfP(B)— Zand P(ANB)= ﬁndP(A/B)
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- SECTION - B v |
L Answer any SIX of the followmg Each questlon carries FIVE Marks (6><5=30) |
- 1'3. ’Fmd the root of the equatlon X —%-1=0 using blsectlon method in. ﬁve stages
- liesin the mterval(l 1 5) -
14. Estlmate f(2 5) from the followmg table.
x o1 '-2;'3.‘[4* 5:6
S| 1| 8] 27] 64] 125216
15. Using Lagrange’s Interpoiation Formula find f(lO) from the foﬂd\ving data.
Tx | 56 o] | | R |
fooy| 12| 13 @447 16|
-6 ,%ﬂ
- ,16. Evaluate 011 Wlng the interval [0 6] mto 6 equalf
: parts. , : A
17. Eval t‘j o sim s (%) ruleb sking i
. - Evaluate impson’s . rule by taking h=1.
U ey Y Rens ) e Y RS
18. Solve by Gauss-Seidal Method.
10x+y+z=12 iR
x+10y+z;12 o o ¢
x+y+10z=12
19. * Solve by using Crout’s LU decnmposition method.
X, + X, +x3=1
C4x +3x,-x,=6
-%3x1+5x2+3x5 =4
Determme the machine representatlon of the dec1mal number 492 234375 in both

single precision and double prec151on



LI BRARY

| ‘llulmmnmmirmmmm_‘ ;‘ S © . 1523

£
e , SECTION C ' : B
]]I. Answer any SIX of the followrng Each question carrles FIVE Marks . (6x5=30)
©21. Solve the system of equations by ‘Gauss Ehmmatron Method -

22. -Solve the System of equatrons by Gauss-Jacobl Method
' ,_10x+y+z =12, 2x+lOy+z =13, 2x+2y+lOz 14
23, Flnd the largest eigen value and correspondmg e1gen vector of the matrtx by usmg
| power method. -
12
A= .
]
24, Using Taylor s Series Method Fmdy at x=1.1 Consrdermg terms upto th1rd degree .
.grven that Zx = x+»y, (1) 0.
25, Solve 31-._ X,y (1) 2, f% proxrmate solutron at x=1.2 using Runge-Kutta
method by taking h=_O.2 | { / @,?q |
126. Solve % =x+y", y(0)=1by Picard’s method upto 2"approximation. Hence find the
 valueof y(0.1). e |
27 Calculate Mean from the following data by Step deviation Method.
|RollNos|1- |2 |3 | 45|67 [8]9 [10]
 |Maks |40 50| 55| 78| 58| 60| 73| 43| 48 |35
28. State and Prove Baye’s Theorem
o | SECTION-D. | | “
IV. Answer any FOUR of the following. Each question carries FIVE Marks. = = (4x5=20)
29. Calculate Standard deviation from the followmg Data. '

x+2y+z 3, 2x+3y+3z-—lO 3x-y+2z=13.

- Salaries in Thousands | 45| 50(55| 60|65|70] 75 80
Number of Persons - | 3 | 5 |8 719 |7 |4 |7

[P.T.O.
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| 30. Calculate Karl Pearson s Coefﬁc1ent of Skewness for the followmg data |

25,15, 23, 40, 27, 25, 23, 25, 20.

Calculate the Coefﬁ01ent of Correlat1on from the followmg data

< 1 1] 2] 3 |4 |5]6]7

Iy 1ol 8] 102|314

32.

33.

o As‘sume that the probability ot< né@%h is 3" ‘

IfAand B are two events, then prove that J/

lfA and B are events with |

“P(AUB) :%, P(AN B) = %antd,“P(;l) =--§- ﬁnd P(A); P(B) and P(4 A B)

Find the Prob_ability that irl a family of 4 chndréﬁ there will be

i) Atleast one b

ii) gAﬂeast one b(gﬂ%least one gifl.

1

P(A) P(AN B)
1-P(B)

P(A/ E)

Where P(B)#1.




